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Paper-III
i=k&III

SOCIAL SCIENCE (HISTORY AND GEOGRAPHY)

lkekftd foKku (bfrgkl ,oa Hkwxksy)
Instructions :
		  The answer of Question No. I is compulsory having 2 marks for each objective question. The candidate is 

required to answer two long type questions out of four questions. Each carrying 40 marks.

funsZ'k%

		 iz'u la[;k I dk mÙkj vfuok;Z gS ftlesa 2 vad ds izR;sd oLrqfu"B iz'u gSaA ijh{kkFkhZ 4 nh?kZ mÙkjh; iz'uksa esa ls 
fdUgha 2 dk mÙkj nsaA izR;sd iz'u 40 vad ds gSaA

oLrqfu"B iz'u% Objective types questions :� (10 × 2 =20)

lHkh iz'uksa ds mÙkj nsa % Answer all quetsions :

	 (I)	 fdlus ex/ lkezkT; esa ofTTk x.kla?k dks gjkdj&vkRelkr fd;k\
	 (v)	 pUnzxqIr ekS;Z	 (c)	v'kksd

	 (l)	 egkiÁUkUn	 (n)	vtkr'kq=k

		  Who defeated and assimilated the Vajjis into the empire of Magadha?
	 (a)	 Chandragupta Maurya		  (b) Ashoka
	 (c)	 Mahapadma Nanda		  (d) Ajatsatru

	 (II)	 gM+IIkk fdl unh ds fdukjs vofLFkr Fkk\
	 (v)	 C;kl	 (c)	lryt

	 (l)	 jkoh	 (n)	?kXxj

		  Harappa was situated on the bank of river.
	 (a)	 Beas	 (b)	 Sutlej
	 (c)	 Ravi	 (d)	 Ghaggar

	(III)	 fuEufyf[kr esa ls fdlus egewn xtuh ds geys ds ckn lkseukFk eafnj dk iqufuZekZ.k fd;k\
	 (v)	 Hkhejkt izFke	 (c)	Hkhenso

	 (l)	 ewyjkt	 (n)	t;flag flf¼jkt

		  After the attack of Mahmud Ghazni, who among the followings reconstructed the Somnath temple?
	 (a)	 Bhimaraja-I	 (b)	 Bhimdeva
	 (c)	 Mularaja	 (d)	 Jayasingh Siddhiraj

	(IV)	 fdl eqxy 'kkld us Hkkjr esa vksVkseu ;q¼ i¼fr dks viuk;k\
	 (v)	 vdcj	 (c)	'kkgtgk¡

	 (l)	 ckcj	 (n)	mijksDr esa ls dksbZ ugha 

		  Which Mughal emperor followed Ottoman system of war in India?
	 (a)	 Akbar	 (b)	 Shah Jahan
	 (c)	 Babar	 (d)	 None of the above 

	 (V)	 ^gqek;w¡ ukek* dh jpuk fdlus fd;k\
	 (v)	 cnk;w¡	 (c)	vcqy iQty

	 (l)	 vgen ;knxkj	 (n)	mijksDr esa ls dksbZ ugha

		  Who wrote ‘Humayun Nama’?
	 (a)	 Badayuni	 (b)	 Abul Fazal
	 (c)	 Ahmad Yadgar	 (d)	 None of the above 

	(VI)	 fdl Ok"kZ esa Mp Hkkjr vk;s\
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	 (v)	 1603 	 (c)	1605

	 (l)	 1610	 (n)	1615

		  In which year the Dutch landed in India?
	 (a)	 1603	 (b)	 1605
	 (c)	 1610	 (d)	 1615

	(VII)	 ^fe=k esyk* dk ckn dk iquukZedj.k gqvk
	 (v)	 vuq'khyu lfefr	 (c)	vfHkuo Hkkjr lfefr

	 (l)	 ;qxkUrj	 (n)	fucU/ekyk

		  ‘Mitra Mela’ was later renamed as
	 (a)	 Anushilan Samiti	 (b)	 Abhinava Bharat Samiti
	 (c)	 Jugantar	 (d)	 Nibandhmala

	(VIII)	Lojkt ikVhZ fuEufyf[kr esa ls fdl ?kVuk ds ifj.kkeLo:i cukbZ x;h\
	 (v)	 pkSjh pkSjk	 (c)	Hkkjr NksM+ks vkUnksyu

	 (l)	 lkbZeu deh'ku dk vkxeu	 (n)	ckjnksyh lR;kxzg

		  Swaraj party was an outcome of which of the following incidents?
	 (a)	 Chauri Chaura	 (b)	 Quit India Movement 
	 (c)	 Arrival of Simon Commission	 (d)	 Bardoli Satyagraha

	(IX)	 caxe ek¡>h usrk Fkk
	 (v)	 gfjckck vkUnksyu	 (c)	lR;/je 

	 (l)	 liQk gksj	 (n)	ljnkj vkUnksyu 

		  Bangam Manjhi was the leaderr of 
	 (a)	 Haribaba Movement 	 (b)	 Satya Dharam
	 (c)	 Sapha Hor	 (d)	 Sardar Movement 

	 (X)	 Vkuk Hkxr vkUnksyu dh 'kq#vkr fd;k
	 (v)	 trjk mjk¡o	 (c)	f'kcq mjk¡o

	 (l)	 Bscys mjk¡o	 (n)	mijksDr esa ls dksbZ ugha 

		  Tana Bhagat Movement was started by
	 (a)	 Jatra Oraon 	 (b)	 Sibu Oraon
	 (c)	 Theble Oraon 	 (d)	 None of the above 

fdUgha nks iz'uksa dk mÙkj nsaA� (40 × 2 = 80)

	Answer any two :
SECATION-A

	 2.	Pkksy 'kkldksa dh LFkkuh; 'kklu iz.kkyh dh eq[; fo'ks"krkvksa dk o.kZu djsaA 
		  Describe the main featurest of the local administration of Chola rulers.

SECATION-B

	 3.	eqgEen fcu rqxyd ds lkadsfrd eqnzk uhfr dk vkykspukRed ijh{k.k djsaA 
		  Critically examine the policy of token currency of Md. Bin Tughlaq.

SECATION-C

	 4.	caxykns'k eqfDr vkanksyu esa Hkkjr dh Hkwfedk dk vkykspukRed ijh{k.k djsaA 
		  Critically examine the role of India in the Liberation Movement of Bangladesh. 

SECATION-D

	 5.	 fcjlk vkUnksyu fdl gn rd ljnkj vkUnksyu ls izHkkfor Fkk\ fcjlk vkUnksyu ds izHkkoksa dh foospuk djsaA 
	 	 To what extent Birsa movement was influenced by Sardar Movement? Discuss the effects of Birsa Movement.



4

Geography
	 1.	 LkHkh iz'uksa ds mÙkj nsa %� (10 × 2 =20)

		 Answer all question :

	 (A)	 fdlus loZ izFke ;g LFkkfir fd;k fd lHkh xzg lw;Z dh ifjØek djrs gSa\

	 (i)	 fudksyl dksijfudl	 (ii)	ts- dsiyj

	 (iii)	 lh- xsfyfy;ks	 (iv)	Mh- besuqvy dkUV

	 	 Who first established that all the planets revolve round the sun?
	 (i)	 Nicholas Copernicus	  (ii)	 J. Kepler
	 (iii)	 C. Galileo	 (iv)	 D. Immanuel Kant

	 (B)	 vknzZrk ifj.kke gS

	 (i)	 ok"ihdj.k dk 	 (ii)	ok"iksRltZu dk 

	 (iii)	 m"ek dh mifLFkfr dk 	 (iv)	gok esa ueh dh mifLFkfr dk 

		  Humidity is the result of 
	   (i)	 Evaporation	 (ii)	 Transpiration
	 (iii)	 Presence of heat 	 (iv)	 Presence of moisture in the air

	 (C)	 fuEufyf[kr esa ls dkSu&lh LFkykÑfr dkLVZ izos'k esa ik;h tkrh gS\

	 (i)	 ikWV gksy 	 (ii)	flad gksy 

	 (iii)	 Cyks gksy 	 (iv)	Iyk;k 

		  Which of the following landforms is found in Karst region?
	 (i)	 Pot hole 	 (ii)	 Sink hole
	 (iii)	 Blow hole 	 (iv)	 Playa

	 (D)	 Hkkjr esa m".k dfVca/h; o"kkZou dh mifLFkfr gS

	 (i)	 vklke vkSj ukxkyS.M esa	 (ii)	mM+hlk vkSj NÙkhlx<+ esa 

	 (iii)	 mÙkj izns'k vkSj egkjk"Vª esa	 (iv)	vklke vkSj dsjy esa

		  Tropical rainforest in India is found in 
	 (i)	 Assam and Nagaland 	 (ii)	 Orissa and Chattisgarh 
	 (iii)	 Uttar Pradesh and Maharashtra	 (iv)	 Assam and Kerala

	 (E)	 fuEufyf[kr [kfutksa esa ls Hkkjr fdl [kfut dk fo'o dk lokZf/d Hk.Mkjd gS\

	 (i)	 ykSg v;Ld 	 (ii)	dks;yk 

	 (iii)	 dk;ukbV	 (iv)	eSaxuht

		  In which of the following minerals, India has the largest deposit in the world?
	 (i)	 Iron ore 	 (ii)	 Coal 
	 (iii)	 Kyanite	 (iv)	 Managanese

	 (F)	 Hkkjr esa ysVsjkbV e`nk dk lokZf/d teko fdl jkT; esa gS\

	 (i)	 tEew vkSj d'ehj 	 (ii)	vka/z izns'k

	 (iii)	 >kj[kaM	 (iv)	jktLFkku

		  Laterite production in India is highest in
	 (i)	 Jammu and Kashmir	 (ii)	 Andhra Pradesh
	 (iii)	 Jharkhand	 (iv)	 Rajasthan
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	 (G)	 Hkkjr esa dkSu&lk tux.kuk o"kZ ^c`gr foHkktd* ;k ^tukafddh; foHkktd* ds uke ls tkuk tkrk gS\

	  (i)	 1911 	 (ii)	1921

	 (iii)	 1931	 (iv)	1941

		  Which census year is known as ‘Big Divide’ or ‘Demographic Divide’ in India?
	 (i)	 1911	 (ii)	 1921
	 (iii)	 1931	 (iv)	 1941

	 (H)	 ^VksMk* tutkfr eq[;r% fuokl djrh gS

	 (i)	 vklke esa  	 (ii)	tEew d'ehj esa 

	 (iii)	 rfeyukMq esa 	 (iv)	jktLFkku esa 

		  ‘Toda’ tribes mostly reside in 
	 (i)	 Assam	 (ii)	 Jammu and Kashmir
	 (iii)	 Tamil Nadu	 (iv)	 Rajasthan

	 (I)	 >kj[k.M dk lcls mQ¡pk tyizikr gS

	 (i)	 tksUgk 	 (ii)	gq.M#

	 (iii)	 nle	 (iv)	cq<+k?kk?k

		  The highest waterfall in Jharkhand is 
	 (i)	 Jonha 	 (ii)	 Hundru 
	 (iii)	 Dasam	 (iv)	 Burhaghagh

	 (J)	 >kj[kaM esa dkyh feV~Vh dgk¡ ik;h tkrh gS\

	 (i)	 nkeksnj ?kkVh izns'k	 (ii)	Lo.kZjs[kk unh ?kkVh izns'k

	 (iii)	 jktegy igkM+h izns'k 	 (iv)	iykeq izns'k

		  Where black soil is found in Jharkhand?
	 (i)	 Damodar valley region	 (ii)	 Subarnrekha river valley region 
	 (iii)	 Rajmahal hill region	 (iv)	 Palamu region

	fdUgha nks iz'uksa ds mÙkj ns %� (40 × 2 = 80)
	Answer any two

	 2.	i`Foh dh vkarfjd lajpuk dk HkwdEi foKku fdl izdkj izdk'k Mkyrk gS\ O;k[;k dhft;sA 

		 Discuss how seismology throws light on the constitution of the interior of the earth.

	 3.	orZeku le; esa Hkkjr dk phuh m|ksx mÙkj ls nf{k.k dh vksj LFkkukarfjd gks jgk gS] O;k[;k dhft;sA

		  In recent time sugar industry in India is shifting from North to South, explain.

	 4.	Lora=krk ds i'pkr~~ Hkkjr dh rhoz uxjhdj.k dk ldkj.k fooj.k izLrqr dhft;sA 

		 Account for the rapid urbanisation of India after independence.

	 5.	>kj[kaM esa xzkeh.k vf/okl ds izdkjksa dh O;k[;k dhft;sA 

		 Explain the rural settlement types in Jharkhand.


